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AP Calculus
Review: Sections 4.1 – 4.4

Show all your work! Allowed to use a calculator with any problem with an “*” 
[image: image1.emf]*1.  

[image: image2.png]The graph of the function y = x" +6x” +7x—2cosx changes concavity at x =
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2.  
[image: image3.png]If y=2x~8. what is the minimum value of the product xy
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3.  
[image: image4.png]If the derivative of f is given by f'(x)=e” —3x” . at which of the following values of x does f

have a relative maximum value?
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*4.  
[image: image5.png]‘The function £ is defined on the closed interval [0.8]. The graph of its derivative f' is shown above.



5.  
[image: image6.png]How many points of inflection does the graph of f have?

@) Two
(B) Three
(©) Four
(D) Five

(E) Six
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The graph of /", the derivative of f, is shown in the figure above. Which of the following

describes all relative extrema of £ on the open interval (a.b)?

(&) One relative maximum and two relative minima
(B) Two relative maxima and one relative minimum
(C) Thiee relative maxima and one relative minimum
(D) One relative maximum and three relative minima
(E) Three relative maxima and two relative minima

For what values of x is the graph of f(x) concave down?



6 – 7.  
[image: image8.png]If ¢ is the number that satisfies the conclusion of the Mean Value Theorem for f(x)=
the interval 0<x <2, thenc=
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8. 
9.  A particle moves along a line with position x(t) = 2t3 -10t2 + 14t – 11, t ≥ 0.  During which 

      interval(s) is the particle moving to the left?

